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Maximum : 100 marks

Time : 1 hour and 15 minutes

Who first used the term RENAISSANCE?

(A) Copernicus (B) dJules Michelet
(C) Rene Descarte (D) Sir [ssac Newton
The founder of Florentine school of painting :
(A) Raphael (B) Titian
(C) Giotto (D) Leonarde da Vinci
Author of Decameron :
' (A) Petarch (B) Dante
(C) Erasmus (D) Boccaccio
Leviathan the treatise on political philosophy was written by :
(A) Thomas Hobbes " (B) Rousseau
(C) John Locke (D) Turgot
The most famous personality Francois Marie Arouet known to history by his pen name of :
(A) Rousseau (B) Voltaire
(C) Quesnay (D) Montesquieu
The last major extension of British Indian territory of Upper Burma was in the reign of :
(A) Lord Cornwallis (B) Lord Mayo
(C) Gen. Dyer (D) Lord Dufferin
Gandhi-Irvin Pact was signed on :
(A) 5™ March 1931 (B) 62 March 1931
(C) 15%* March 1931 (D) 16% March 1931
Which important Act was passed just before the Jallianwalla bagh tragedy?
(A) Ilbert hill (B) Vernacular Press Act
(C) Rowlatt Act (D) Indian University Act
Who associated himself with the formation of Gadar party?
(A) B.G. Tilak (B) Lalalajpat Rai
(C) Lala Hardaval _ (D) Bhagat Singh
Who drafted the Declaration of Independence Pledge in 19307
(A) Jawaharlal Nehru (B) Subhas Chandra Bose
(C) Mahatma Gandhi (D)  Abdul Kalam Azad
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The Olympics at Rome, Italy was held on :

(A) 1959 (B) 1961
(C) 1964 (D) 1960
Rajaji National Park is situated in :
(A) Himachal Pradesh (B) Uttarakhand
(C) Rajasthan (D) West Bengal
The Rights of Transgender Persons Bill, 2014, introduced in the parliament by :
(A) Vandhana Siva (B) Tiruchi Siva
(C) Maneka Gandhi (D) Subhash Kashyap
Sulthan Azian Shah Cup is related to which sport?
(A) Hockey (B) Football
(C) Cricket (D) Tennis
Nobel laureate Guntur Grass was born in :
(A) Sweden (B) Poland
(C) Argentina (D) Austria

Vygotsky’s socio-cultural theory suggests that a child's most important discoveries art guided
by :

(A) Peers

(B) School

(C) Adults acting as tutors

(D) Both peers and adults acting as tutors

The process whereby a response is made more frequent through reinforcement is called ;

(A) Operant conditioning (B) Classical conditioning

(C) Negative conditioning (D) Positive conditioning
Which of the following is the correct order for Bruner's stages of cognitive development?

(A) Enactive, Iconic, Creative (B) Iconic, Symbolic, Enactive

(C) Enactive, Symbolic, Iconic (D) Enactive, Iconic, Symbolic
Which of the following helps to find out the student’s learning processes and learning
problems?

(A) Achievement Test (B) Diagnostic Evaluation

(C) Summative Evaluation (D) Formative Evaluation

In Gagne’s Multiple Discrimination learning is facilitated through :
(A) Reinforcement of correct responses
(B) Presentation of stimuli in chain order
(C) Promotion and separation of stimuli from responses
(D) Discrimination between stimuli and response
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